
SAP ABAP table V_PSERB_P {Generated Table for View}

V_PSERB_P

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

OBJNR [CHAR (22)]

VERNR [NUMC (8)]

ASTNR [NUMC (8)]

PBUKR [CHAR (4)]

PGSBR [CHAR (4)]

PKOKR [CHAR (4)]

PRCTR [CHAR (10)]

PRART [CHAR (2)]

AKOKR [CHAR (4)]

AKSTL [CHAR (10)]

FKOKR [CHAR (4)]

FKSTL [CHAR (10)]

PWPOS [CUKY (5)]

WERKS [CHAR (4)]

KOSTL [CHAR (10)]

IZWEK [CHAR (2)]

ISIZE [CHAR (2)]

IUMKZ [CHAR (5)]

STORT [CHAR (10)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 V_PSERB_P-PRCTR = CEPC-PRCTR 
0..N

{0,1}

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 V_PSERB_P-AKSTL = CSKS-KOSTL 

0..N

{0,1}

 V_PSERB_P-FKSTL = CSKS-KOSTL 0..N

{0,1}

 V_PSERB_P-KOSTL = CSKS-KOSTL 
0..N

{0,1}

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]
 V_PSERB_P-OBJNR = ONR00-OBJNR 

{0,1}

{0,1}

T000

MANDT [CLNT (3)]

 V_PSERB_P-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 V_PSERB_P-PBUKR = T001-BUKRS 
0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 V_PSERB_P-WERKS = T001W-WERKS 
0..N

1

T087I

MANDT [CLNT (3)]

IZWEK [CHAR (2)]
 V_PSERB_P-IZWEK = T087I-IZWEK 0..N

1

T087K

MANDT [CLNT (3)]

UMWKZ [CHAR (5)]
 V_PSERB_P-IUMKZ = T087K-UMWKZ 

0..N

1

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 V_PSERB_P-STORT = T499S-STAND 

0..N

0..N

TAIF5

MANDT [CLNT (3)]

SIZECL [CHAR (2)]

 V_PSERB_P-ISIZE = TAIF5-SIZECL 

0..N

1

TCJ04

MANDT [CLNT (3)]

VERNR [NUMC (8)]

 V_PSERB_P-VERNR = TCJ04-VERNR 

0..N

{0,1}

TCJ05

MANDT [CLNT (3)]

ASTNR [NUMC (8)]

 V_PSERB_P-ASTNR = TCJ05-ASTNR 

0..N

{0,1}

TCJ1

MANDT [CLNT (3)]

PRART [CHAR (2)]

 V_PSERB_P-PRART = TCJ1-PRART 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 V_PSERB_P-PWPOS = TCURC-WAERS 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 V_PSERB_P-PGSBR = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 V_PSERB_P-AKOKR = TKA01-KOKRS 

0..N

{0,1}

 V_PSERB_P-FKOKR = TKA01-KOKRS 

0..N

{0,1}

 V_PSERB_P-PKOKR = TKA01-KOKRS 

0..N

{0,1}


